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1. Who is the father of cloud computing ?

(A) Sharon B. Codd (B) Edgar Frank Codd

(C) J.C.R. Licklider (D) Charles Bachman

2. Customer segmentation and differential pricing strategy can be easily achieved

through __________.

(A) Big Data Analytics (B) Web Pages

(C) Browsers (D) Hardwares

3. Which of the following is a type of cyber security ?

(A) Cloud security (B) Network security

(C) Application security (D) All of the above

4. It is important to have a good __________ to be successful in your career.

(A) Attitude (B) Clothes

(C) Attendance (D) Shoes

5. AI stands for __________.

(A) Aircraft Intelligent (B) Artificial Intelligence

(C) Aerial Intelligence (D) Advanced Internet

6. An example of PaaS is :

(A) Rackspace cloud (B) Mosso

(C) Amazon EC2 (D) G-mail
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7. What is key step in Teamwork ?

(A) Leadership (B) Responsibility

(C) Organization (D) All of the above

8. Choose the correct example of oral communication.

(A) Reports (B) Newspapers

(C) Face-to-Face conversation (D) Notes

9. Which of the following is a type of cyber-attack ?

(A) Phishing (B) SQL Injections

(C) Password Attack (D) All of the above

10. What does the word cloud represent in cloud computing ?

(A) Internet (B) Wireless

(C) Data (D) Disk

11. Understanding of human needs happens at the stage of :

(A) Testing (B) Prototyping

(C) Empathizing (D) None of the above

12. What is abbreviation of DBMS ?

(A) Data Base Management System

(B) Data Base Mining Source

(C) Data Base Management Schema

(D) Data Base Manipulation Schema



492102 D!92102!

13. __________ attacks are real threats to IIoT.

(A) Distributed Denial of Service (DDoS)

(B) Worms

(C) Ransomware

(D) Virus

14. Self-driving cars usually use limited memory technology to :

(A) Store Data (B) Automate

(C) Detect Motion (D) None of the above

15. Firewalls are used to protect __________.

(A) Fire attacks (B) Virus attacks

(C) Unauthorised access (D) Data driven attacks

16. Machine Learning is a subset of __________.

(A) Deep Learning (B) Artificial Intelligence

(C) Data Learning (D) None of the above

17. Mongo DB is a __________ database.

(A) SQL (B) DBMS

(C) No SQL (D) RDBMS

18. Which of the following is considered as the unsolicited commercial e-mail ?

(A) Virus (B) Malware

(C) Spam (D) All of the above
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19. Our dress code is an example of __________ communication.

(A) Verbal (B) Non-Verbal

(C) Written (D) Spoken

20. IoT stands for :

(A) Introduction of Things (B) Internet of Things

(C) Internet of Tracking (D) Interaction of Things

21. __________ shows the process of creating something new.

(A) Innovation (B) Business model

(C) Modeling (D) Creative flexibly

22. Which is an open - source Relational Database Management System (RDBMS)

with a client - server model ?

(A) Oracle (B) MySQL

(C) MS-Access (D) None of the above

23. __________ includes sounds, words, language and speech.

(A) Verbal Communication (B) Non-Verbal Communication

(C) Both of the above (D) None of the above

24. Which is the first stage in every IoT architecture ?

(A) Sensors and Actuators

(B) Internet gateways and Data Acquisition systems

(C) Edge IT

(D) Data center and cloud
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25. Which service permits the changes to the IoT services ?

(A) Update (B) Registered service status

(C) Enable from suspension (D) Enable

26. Which type of Neural Network is used by Stock Market Indices ?

(A) LSVM (B) NSTM

(C) LSTM (D) ANSI

27. Communication is a non-stop __________.

(A) Paper (B) Process

(C) Programme (D) Plan

28. __________ is the essential concept related to cloud.

(A) Reliability (B) Abstraction

(C) Productivity (D) None of the above

29. The word ‘Communication’ has been derived from __________.

(A) Greek (B) Latin

(C) German (D) French

30. What is the first step to solving a problem ?

(A) Generating alternatives (B) Defining the problem

(C) Selecting alternatives (D) Making a decision
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